MATHXNET
Circles - Diameter

If you have a diameter, find the area:
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MATHXNET
Circles - Diameter

If you have a diameter, find the area:
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306)
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310)

94.2 km

#100 km

314.2 km

312)

314)

106.8 cm

316)

98 yd

307.9 yd
318)

926 in

311)

201.1 m
313)

._
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B
>
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315)

m
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295.3 mi1
317)
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_
0

S

o

g
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N
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o
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=
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=

g £
3
&

328)
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D
0
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N
N
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[
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O
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o
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332)

2262 yd
334)

267 ft

338)

>
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C

173.4 in
340)

42.7 m

333)

335)

337)

339)

341)
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C

147.7 km
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o
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o
&0
=
-
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343)

—
@)}
—
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3]
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352)

928 ft

2915 ft

354)

282.7m
356)

[e—

75.9 mi1

358)

174.7 in
360)

*17.6 m

N

N
N
o
-
=
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$9.2 cm

D
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4
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—

=
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357)

359)

148.3 ki
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363)

96.1 cm
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364)

88 m®

276.5 mi

366)

— EEN
~ @
< SN
~ o

=1

252 mi
368)

386 yde

1213 yd

370)

84.8in

266.4 in
372)

:

54 yd

169.6 yd
374)

o

~

e
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N
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-
=

365)

%13.8cm

367)

369)
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o
>
o
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o
S
)
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U
-
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89.2yd

N
0
o
o
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376)

86 in

C

270.2 in
378)

804 m

252.6 m

380)

62.8 ft
382)

52 mi

N

16.3 mi1
384)

844 cm

N —
N (98]
~ o
o)) N
=t
= E. ~

265.2 cm
386)

157.1 ft

377)

379)

381)

383)

385)

387)
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50.3 m1
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N
.\D.
=
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N
N
-
w
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396)

2
<
o
=

I
=
B
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2
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391)
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>
e
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—
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—
N
o
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=
=
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)
N
™
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398) | 399)
227.5 mi .
245 m1
400) |
37.7 ft

If you have a diameter, find the radius:

401) 402)
11 ft 8 ft
403) 404)
. 3 km
5 km
405) | 406)
I13m ‘
2m
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407)

0

10 mi
409)

)
C

5.9 mi
411)

SN
<
(=N

413)

415)

= S
+ (3%}
= o =

=]

[

5

B
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408)

7.9 mi1

410)

)

12.2yd

6.1 yd

412)

)

44vyd

C

22yd
414)

10.2 ft
416)
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417)

:

©
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421)

.
n
-
B

12m
423)

425)
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o
B

w
N
=
=

418)

-
w
N
=
3

0

N
o
g

420)

=}
-
=

422)

424)

G

28 yd

C

14 yd
426)

~
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3

3.6m
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427) 428)

1.6 m

13.7 cm
429) 430)

w o
o0 0
=} e
=. =

11.8 cm

431) 432)

7.7 mi

433) 434)

21.8 ft9

&
an

4.1vd

10.9 ft

435) 436)

92241t

9.11n

i

11.2 ft
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437)

14.2 in¢

ah

7.1 1n
439)

5.2km

441)

._.
w

n

-

=1

443)

19.2 cme
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N [@))
= o
E. E

»~ %0
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440)

4
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[1.4m
444)
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447)

2.8 yd
449)

8.9 1m

451)

7.8 km

©

b o
—_ S
B B
N
1N
0®
3

3.9 km
453)

242 m

<)

2.1 m
455)

&

10.3m

448)

12.8 yd

450)

452)

454)

124 m
456)

8.3 cm
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457)

o0
N
(2]
B

459)

461)

:h
~
-«

(=N
®
™
<
a

[e—

3.8 ft

463)

\O

O ft

465)

467)

— W
e bo'
— =t

o =
E.

458)

6.4 mi
460)

:

52yd

C

2.6 yd
462)

11.7 ft
464)

466)
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~ - ~
) S o0
8 5 B
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469)

¢10.2 mi

N

5.1 mi

471)

w

w
<

(oW

473)

272vyde

13.6 yd

475)

o
W
=

477)

N
~
=
-

7.6 in

470)

10.8 mi¢

5.4 mi

472)

11.5 yd
476)

194 it

ah

9.7 fi
478)
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479)

481)

483)

— I
N 2
© =
B

3.1 m

485)

2.7 km

487)

10.7 m
489)

13.4 km

480)

482)

484)

486)

488)

490)
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491)

493)

N
=
e
=

2.5 mi

495)

— o )
;_ S ()
> 4 g
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10.8 yd
497)

13 cme

ah

6.5 cm
499)

)

1121

C

[
o)
=

492)

106 in

9

n
W
=
-

494)

252vyde

T

12.6 yd
496)

498)

18.8yd

500)
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501)

503)

505)

507)

509)

p— N
o |IE|"7 O
< o0
(=N —
"||||||||l) "lllliilllj Ea ‘llll“‘llllll)

141

BN 9 (5]
N} S £
g B =3
B

13 in

48 km

502)

504)

N
~J .
o
<> |
©
o
=

46 ft
506)

508)

510)
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511)

513)

oS
wn
. B .

17.3yd

515)

&

)
W
=

517)

59.6 in®

R

29.8 in
519)

O

m

512)

S
—
Q
=

514)

68 yde

(98]

S
<

(=

516)

—
(98]
—
=

518)

92.8 ft

I
o
~
=

520)

51.2 kme

ah

25.6 km
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521) 522)

984 4 km

N

42.2 km
4.8 m
523) 524)
8762 m
42.8 kme
38.1m
21.4 km
525) 526)
48.7 m [2m
527) 528)
’ 980.6 cm
88 cm 403 cm
529) 530)
. 36.1 cm
19.5 m1
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531)

4.6 mi
533)

63.8 yd

31.9yd

535)

11.1 ft
537)

88.8 1t

444 ft

539)

N
0}
(¢}
=
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i
3
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W

O
w
B
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534)
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> o ~ o0
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2
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541) 542)
e \_/
15.1 km
543) 544)
e
42.4 km
27.6 m
545) 546)
38.2m U
6.8 cm
547) 548)
= G
234 m 34.1 ecm
549) 550) m
U 19.2 mi
2.6 cm
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551)

553)

555)

557)

559)

561)

59.8 yd

29.9 yd

67.8 ft

(U]

(U]

o

: =p
e SN 3]
= - —_
N (@) wn
5 = 2

)
0
Q
—
=

552)

554)

556)

80.8in

558)

8.9 km 36.2m
560)
. 954 yd
43
cm 27 yd
.'ZOD
10 1n
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562)

o

26 km
564)

472 cm¢

o

23.6 cm
566)

I
o
)
g
=

2.8 cm

568)

152vd
570)

572)

[} ] (S
N \O
~] [US]

-
g =
=

563)

~
- .
|

565)

9804 cm

N

567)

38.8 mi

19.4 mi
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48.5yd
571)
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N
=2}
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574)

SN
~J
e
=t
&
[ 2
o
3

21.6 cm
576)

17.4 cm
578)

[N
N
o)
E

580)

o

17.2 ft
582)

2.7 mi

575)

577)

84 yd

42 yd

579)

32.1yd
581)

89 ft

SN

45 ft
583)
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584)

46.7 yd
586)

oo

km
588)

13.21n

590)

9.1 km

592)

o

40 km

585)

587)

48 km¢

\_/

589)

93 km
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N,

46.5 km
591)

%
U

423 m
593)

)

94yd

B
9
A
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594)

27.8 in
596)

78 mi

0

39 mi
598)

W
(o]
8]
(2]
B

600)

602)

N
E.
&
3
3

52 mi
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SN
=
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]
" 8

A
b
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-
=

599)
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W
n
g
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601)
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<
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166 yde
8.3 yd
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907.8 ft
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606)

108.2 in®

608)

W
ha
—_
.
B

45.6 in
610)

¢191.2 km

N

612)

A Ne)
~ bl
o o
-
=

g

614)

62 me

3lm

607)

49.8 in

609)

199.8in

99.9 in
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€996 in
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—_
=
g
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616)

w2

=]

B.
(=2}
3
*

46 cm
618)

61 mi

620)

148 mi¢

R

74 mi
622)

89 yd

624)

wn

ft

617)

619)

18 mi

621)

623)

625)

- [99)

. A . oo .
<
= (=
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626)

) ~
S =)
g B
=

19
628)

34 km
630)

49 m

632)

74.1 m

634)

65.6 cm

627)

629)

631)

o)
g
B

633)

69.8 cm
635)

21.8 mi1
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636)

638)

=

N

E.
w
e
3

67.6 yd
640)

59.1 ft
642)

11.1 ft
644)

iy

(o]

m

637)

13.3 mi

639)

:

126.8 yd

(

o
ve)
I~
“
a.

641)

&y

153 ft
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©

o
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=5
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N
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=
=}
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646)

<::::::#0£
3

22 km
648)

37 km
650)

D

102 m

(

5lm

652)

)

132.cm

C

66 cm

654)

81 cm

647)

79 m

649)

‘||||§§
3

94 m

651)

10 cm

653)

A
(=]
o
3
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23 cm
655)

38 mi
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D
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(

O

N
-
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=t
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~
a
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8
=
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0
2
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)
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w
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n
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666)

668)

670)

672)

674)

<
o
—
o
=

W
[
—
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E

N
g
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o
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D

1452 mi

g

72.6 mi

168 yd

84 yd
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675)
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676)

)

196 yd
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\O
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-
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85 km
682)

100 km

684)

I5m
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686)

30 m
688)

2 mi

690)

W
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<

(=N

692)

189.6 yd

94.8 yd
694)

93.6 ft4

ah

46.8 ft
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96.9 n

687)
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N
=
!
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689)
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N
o0
E
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o
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B
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i
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I
g
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697) 698)

1852 ft¢
88.4
92.6 ft
699) 700)
80.8 km#
44.6 km 40.4 km
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